Consider ﬁzow jws% A Seu— MlQ‘m%e,'

olate

VvV

V

~.
—

u>u S

Wl/\al’ does the vor%icth look like ?

WOWIG 11
) 1’) K‘j { '_r:/:&) e

= >
> 5 L
S 1 S
= gy
> B
Nno Vérhd{j
c) d)
2, N\
#* =
= S ,
S Pl X
- \ - B
> >
> / >

Sleada W 4 me

C j o mﬂ N cl C % OWiNS }fm 1A

( vorticih OMJ[J
O\ PL“& \-




Consider  the How

[

f : p
s Z@VU e ﬂ) r v
“qe sSawme ¢ l#‘ ‘H’\(’ 32

Pf-‘rm 4\ )

a) Ueg ‘ 10) e




For flow  arouvel a cphere, e
potential Plow  solubion 1<
) valid ‘
2) valid away Lot wobere
vor{w‘c‘(%j 1S comcavibitoded
2) net valid




